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at people think about a new by-law
out a newsletter to everyone in the district.
2 and readers are asked to return their
ling method was used?

c. Simple random sampling
~ d. Cluster sampling

i x-tile, a black rectangle represents a
e represents a 1-tile.

ted by this set of algebra tiles.
od et — 3wt
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C -2 +4 d. 2x-ct+4
ions are polynomials?

c. iyl andiii  (d) i, ii, and iv
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¢. i, i, and iii @ i, i, and iv

an be represented by the same set of algebra tiles.
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bine like terms. Sketetratpehbya tiles if if hetps—
—Tx+ 25— fire

“1!1 3;{2 =5x C. F!J.'! —4x d 32+

Subtract: (- Tx* + 2) - (427 = 5+ 67)

3K"T¥L+l—'fvl'1'5--{s_‘:i =% 5 =1 SR AT
8. -11z" + -7 &2 ""T!""" 3
b‘- —“xz—gx—‘] d. 11x* 4+ 3z

. Multiply: (-2){¢=* - 67

Gi g Y L-.,,.L- 120+ |
b, 2,:'2—&:—9 d. 8 - e
I -20p° - 1ip
. Divide: —p
a. Sp-4p b, ~5p-4 (e pp+4 d. 9p
K G

B 12 Solve:se-15557" p
i b B. 5 .Y b9 =2 fdp
i, ¥ d —
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b. e C, q—l,=_.2’: II. . 4‘=31; w
S

e
BRS04 2 3 4 5 g

a. Graph ii b. Graph iv (’FL".;{imph 1ii d. Graph
i A% a0 s
16. Solve: z-1ss
-3t 7-15% ¥
e s E7I b s {(c }es 0
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21,

uncy castle.

b 2541322121 d. 254134 <121

1B. Determine the scale factor for this scale diagram.

©

19, A ferris wheel has diameter 65m. ; A
Determine the diaffisfer on a scale diagram if the scale factor is (.06,
a 7lm {r b. )39 m c. 108 m d. 39m

WCE.' castle company charges a flat rate of $25, plus $13 per hour, Shane has

ite an inequality to represent the number of hours, &, for which he can rent the

A. 25+ 134> 121 {E—)'zsﬂz.fﬁu: 25 +#134 <1zl
12
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is wheel has diameter 65m.

the di er on a scale diagram if the scale factor is 0L06,
b.)]3.9m c. 108 m d. 35 m

ify similar quadrilaterals.
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a. PandQ B) Pand R ¢. Rand§ ) and §

21. Determine the length of EB in this pair of similar triangles.
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I
L]
a. Pand () @Pandﬁ c. Rand § d. Qand S

Determine the length of EB in this pair of similar triangles.

T
20 115
f2.7 x g
¥
A 13.2 b. 10 { c)8 d
22, When the shadow of a flagpole is 33967 long, a 1.8-m fencepost casts a shadow
2.8 m long. How tall is the flagpole?
a 523m b. 21.6 m c.l2l.6m d. 12.6 m
x % 5.
% b_ LWL e
134 1.5
25y = Ld.T1
X= 2
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Describe the rotational symmetry and line symmetry of this parallelogram.

e/

.Ru:auonal symmetry of order 2 about the
. Rotational symmetry of order 2 about the ce
through the centre

¢. Rotational symmetry of order 1 about the centre; 1 hine of symmetry
through the centre
d. No rotational symmetry; no line synmetrs

e no line symmetry

1 line of symmetrs

24. O is the centre of this circle
Which line is a tangent?

10
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& cenire of the circle,
the value of 1 to the nearest tenth, if necessary.

8 907

; &
R
7.
i
5'?": i b
‘ 2
g5 =9 *hb
e = h"
$=b_
26. O is the centre of this circle and point T is & point of tangency
Determine the value of +°
190 - 49— ¢
&/
b. 139° c. 49°
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the centre of this circle and point A is a point of lengency,
ine the value of m. If necessary, give your answer (o the nearest tenth,

A e rl
- z
.-f?ﬂa = AL + b
7 e ¥
e T 1
B '-_f‘( - | + rr
= {7
0% T T N
@y 2025 = 28
136 =
o 7 =
o 7% b, 8.1 c. 417

28, O isthe centre of this circle.
Determine the value of m®,

G
F by |
H
ine c. 180
. B0° d. i

2%, 0 is the centre of this circle,
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(o) s0° c. 180°
b 90 d. 60e
() is the centre of this circle.

H

a, H° e 64
b. 58° d 1116
30 Oisthe centre of this circle -

| Determine the value of z°.

o 55° ¢ 90
b, 110° (d) 70
\_/
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31. Match each equation with a graph on the grid to the right.
ey T P
1 H ; B by 61 [ tatsiay
8 y=gx  Omph X I 8 X e D
. (i | L P T |
— 1 i A e
b) y=-Ix Graph: e =TT . — 0
ms 0
g) y=+4x Graph: _ ! o el o | SRl ‘_' 4
4 y=- %x Gmaph: __{ : 1‘ 1R
g
32, Complete the table of valucs for the following equation, then d
i —dx — 1
Show your work for the first two val fx
x=-1 x=-1
y=73x-1 W | II
= A= |
I = J'-!s /
=]
4
L]

14
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J2r Cormiplete the table of values for the following equation, then draw U graph.

0'\ = -7

y=3x-1
Show your work for the first iwo valwes of x.
: ] |
By Ty x=-1 x=-1 i |
i __ y=3x-1 y=3x-1
2|77 T-—ar’_-a‘.--' ¥ =3 ‘
S Tl '
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PEETLCOmplEtes NG tanle ol vRIues 10F INe [0NOWINE Squation, nen araw e grapn.

y=3x-1
Show your work for the first two values of x,
R | |
¥ x=-2 x=-1 | |
__7 y=3x-1 y=3x-1 i
e, Y

June 13, 2016
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33, Jeff got & new cell phone for his birthday. His pl
plus $0.50 for each text.

) Write the equation that represents this linear relatior

- £
R A A

\_J,': ul:i.

B} What is the cost of Jeff sending 1 12 text messages exch month

= EJ 7] *
¢] Determine the number of messages he can send fo
{50 = 050
130
T0.50
Al =

17
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